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/General Instructions to Candidates : \
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Statistical tables can be used in the examination hall.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any S questions from 1 to 6. Each carries 2 scores. (B x2=10)
1. Choose the correct answer.
(a) The lower and upper class limits are 20 and 30. The midvalue of the class is :
1 10 @) 25
(i) 30 (iv) 50
(b) Inthe process of constructing a frequency table, we get the following information.

Largest value is 59, Smallest value is 40 and the number of classes desired is 5.
The class interval is :

@®H 20 () 25
(i) 15 (iv) 4 (1+1)

2. Choose the correct answer.
(a) The total angle in a pie chart is :

i) 360° @) 270°
(iii) 180° @iv) 100°
(b) The graph of cumulative frequency table is called :
(i) Histogram (i) Frequency polygon
(iii) Frequency curve (iv) Ogive 1+1)

3. Choose the correct answer :

(a) The most frequently occurred observation in a data is called :

(i) Mean (il) Median
(iii) Mode (iv) Range
(b) The median in the set 6, 4,2, 3,4,5,5, 4 would be :
i 3 @) 4
(iii) 5 @iv) 6 a+1

4.  Choose the correct answer.

(@) The number 10 is added to all the observations in a symmetric data. Then the
skewness of the distribution becomes :

(i) Positive (i) Negative
(iii) Zero (iv) None of these
(b) Fora symmetric distribution, which of the following is correct ?
i B;=0 (i) B,;<0
(iii)) B;>0 iv) B;#0 1+1)
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1 a)®@8 6 a190 ca13iBElol aBomBIee 5 afIRATIM PCMOOAY®) .

2 capod ail@o. (Sx2=10)
1. vl GIO6MIINSIOTHIEND |

(@) &0 gopiead ®ISAN alBWIW)o DB ald Wl L@@ 20, 30 @RWIT3

opfleaad awallel
@i 10 (i) 25
(iii)) 30 @iv) 50

(b) 80 eralyEtilalgld: aldzniem caSVI@ 21)AIOS alo@)IM aflaleasud eiEla)).
asloafler 59 @joeom afler 40 @ROINIA0W FOQBBIOS af)eRo S GO

0B3RS af)(@ ?
i 20 (i) 25
(i) 15 (iv) 4 1+1)

2. AIWOMO0 GO6)ETNSIOTINGI@))M
(a) B0} 660l 210831T3 BRYEB> CGMHITMBHRINS BRI

(i 360° (i) 270°
(iif) 180° (iv) 100°
(b) Ve N®IIDTN ISlBHWIAOS (NLM AlOWIAN Cald:
D)  adleguowdo (i) @RI Mmlan)e)eR0
(iil) @YU Ao (1v) e=lal 1+1)

3. AWML GO ETINSIOBIHI®)HE>
(@) 80)woguiloel aBgale @SOS BRYAIBBBI L)) AIGYIM (I IIBAEM

(1) @wpe (i) awyso
(iil) e@ow’ @iv) coemi
() 6,4,2,3,4,5,5, 4 a0 AWIQOIOS AWOS0
H 3 @) 4
Giii) 5 @iv) 6 1+1)

4. AW)EMO. GIEETINSIE BTN
(@) &0 adl® (symmetric) WIQOIOLI af)LJ0 (112ai®IBHEBEBIS) 10 B>)5)aM). @R
@M EBIHAZ MVHYOMAV @RI

() canMiglai (i) emuglar
(i) anmyo (iv) aw@oamag)
(b) &0)vadl® all®EeMEHIM VElVWOIVECHD ?
® By;=0 @) B,<0
(iii) B,>0 @iv) B,;#0 (1+1)
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5.  Choose the correct answer.

(@)

(b)

The sampling procedure in which an interviewer is asked to interview 30 teachers,

50 public servants and 25 farmers is called :

(1) Stratified sampling (i) Systematic sampling
(1ii)) Quota sampling (iv) Multistage sampling

What effect does increase in sample size have upon sampling error ?

(1) It reduces the sampling error.
(i1) It increases the sampling error.
(ii1) It has no effect on sampling error.

(iv) None of these

6.  Write any four methods for collecting primary data.

Answer any 6 Questions from 7 to 13. Each carries 3 scores.

7. ()
(b)
8. (a)
(b)

Choose the correct answer :

IST was founded by :
(1) C.R Rao (i1) R.A. Fisher
(111) P.C. Mahalanobis (iv) Karl Pearson

Write a short note on NSSO.

Choose the correct answer.

Secondary data includes which of the following ?

(1) Official documents (i1)  School records

(ii1) Archived research data (iv) All of these

1+1)

(6 x3=18)

(1+2)

‘It is better to use primary data whenever it is possible.” How can you justify this

statement ?

9. Prepare the following information in a suitable table.

FY-32

(1+2)

In 2015 out of a total of 2000 workers in a factory, 1550 were members of a trade
union. The number of women workers employed was 250, out of which 200 did not
belong to any trade union.

In 2018 the number of trade union workers was 1725 of which 1600 were men.
The number of non-trade union workers was 380, among which 155 were women.

4



5. (A0 H@OHENSIE) BITN )

(@) 0] GrREMEI MSOIMNWIEHIS 30 @RAELYPAIRA 50 OaPOEIVAURD, 25
DHBoUMHD afaMlaien @REMGNI MSEMIR  @RYAININAIS) AN GOOCWLNSH
(a1@3lo)atern (Sampling) Al@ilosm’

(i) qE® IGNo)IeMo (i)  (BBOIMAVY® (A IT D)Mo
(i) G99 (IGIO)IEMo (1v) 6enua0)eI§ (alGflo)alemoe

(b) avomilB alellajorilenmeod)an aBeumal (IGlo)Iem aflvodlom (sampling

error) ag)eoem aujousladlesnan) ?

(1) @R® (IGH)IeM aflUodlem ?0WEN)IM)

(i) @P® (a1Glo)alem allvodslom aidavlaflenan)

(iii) @GN’ (a1GA)a16M aflVddil@3 B30} MLPWIMAl sDe).

(iv) enale@oamag) 1+1)
6.  (@owdld Wogo  CUIRIEMOIIIM DalEIUTlENAM ago@®lele 4 ABPEBUD
af)91@)>.
7 2)®@3 13 190 caRsEmElal ogeOBIee 6 afIPOTIM  DOTOOAYD)d.
3 aapod allo. (6x3=18)
7. (a) VAW GIOEETINS)EDTHEIE)d>:
IST runoaflajo:
(1) C.R.o0oqy (1) RA. adleu@
(ii1)) P.C. ma0eicmomilay’ (iv) ®9UB aflc@yavend
(b) NSSO o ®)0la) B30) e1°el) B} 93] 1+2)

8. (a) VAWBOO GHOEETINSIDTINGYT)D:.
@061 al0@)MAIRI@3 3lGfl WIQWIGE DUBeASINECO® ?
(1) &vadlav cosusud
(i) VU coaUMHUB
(iif) cU6UA|IAfIBIBNAM VEAIEHEM WOQ
(iv) eate®eloo

(b) ‘MOWPIMATISOTDINSOD)o (IO AWIQ @O DaICWIUIBNM@IE

9afl@o’ AFlEIBUd gD (IAPINMOW af)BBOHM MOV BElN)0? 1+2)

9. 21j018S al0@)AD Ofl0IEEBAHS @OMCWILRY AW BO) aISIBLI0E ).
2015 @3 80) aNIBSAIW6 LI @RYe N2 2000 s@a¥lelglaai®d 1550
Gal@)o B0) H@IFILINE] TVALISMOAG3 @ROWEBSIVE)IM). @IRYEGWMBIWIO)IN 250
(@ o®0¥lengla:aled 200 Galod) B0) MVoeLISMOICRI] @RoWRSII@aTie)].
2018 @3 e®o¥le1og] avctrISMWNE! @BRWEBRIVIO)IM 1725 Galdlad 1600
Gal®)o alj0PHUMIEIV)IM].  TVALISMIWEBBLPWIO)IM 380  Gal)NEOVIO)AM).
@AUGIB3 155 caud (n%ﬂoe,gomﬂogmg.
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10. (a)

(b)

Choose the correct answer.

4 sets of observations are given below. Which set has the smallest range ?
(i) 40, 50, 60, 70, 80 (i) 30, 40, 50, 60, 70

(i) 46, 48, 50, 52, 54 (iv) 48,49, 50, 51,52

A data was collected from 11 school children on the number of hours they spend
watching TV in one week. 1+2)

9, 16,9, 14, 20, 18, 19, 20, 3, 8.5, 12

Find the quartile deviation.

11. Calculate the mean deviation about mode of the following data :

12,20, 17, 19, 21, 13, 12, 10, 17,9, 12

12. In the distribution of the wages of workers in a factory, the differences of the third and

first quartiles is 25, their sum is 55 and median is 20. Find the Bowley’s coefficient of

skewness.

13. Explain different types of Kurtosis with the help of a graph.

Answer any S Questions from 14 to 19. Each carries 4 scores. (5x4=20)

14. Frequency distribution of the scores obtained by students in a Statistics examination is

given below. Draw a histogram.

Score 0-10 ) 10-20 | 20-30 | 30—-40 | 40-50 | 50-60
No. of Students 5 10 15 12 8 3
15. (a) The mean height of 25 boys in a class is 161 cm and the mean height of 35 girls in

(b)

FY-32

the same class is 158 cm. Find the mean height of all the students in the class.

The arithmetic mean and geometric mean of two numbers are 10 and 9

respectively. Find the harmonic mean. 2+2)

6



10.

11.

12.

13.

14.

15.

(@) VAWBNOO GINOEETINS IO TNYBE D>
4 ©AVY (10 I@OBIBUD 21)0IOS OBIS)OBIGIHS}AN). ERAUIRIGI ABQARC 3OO
GO DBV aBTNMET ?
(i) 40,50, 60, 70, 80 @) 30, 40, 50, 60, 70
(iii) 46, 48, 50, 52, 54 (@iv) 48,49,50, 51, 52
(b) 800921ad TV $HemMIM@IMI] aaleluslenan aemlen0)®e8 @)dlaf 11
QU 3S1aEIE3 ATl GUAIGl] AIQ 21)AIAS HBISIHN M), 1+2)
9,16,9, 14,20, 18, 19, 20, 3, 8.5, 12
21@)0ovd QIYGIWIMo (Quartile Deviation) 3:061m)é».

21)QI0S B0S)OBIIBIHNIN WIQW)OS WG dlamss aIyGIIm @IWYe (Mean
deviation) &06mMé» :

12,20, 17,19, 21, 13, 12, 10, 17, 9, 12

80) andBSAlloel H@IFlLNElBZOS CAUGMOOD H)0lajigs alleosmoam]
MM BANYo 21@RW&BUD (quartiles) @aailenss aly@LOPaVo 25, GRAIWIOS @B 55,
DWPBo 20 af)aMIAIIEM. MIDSIWIOS TVSHM@ NDIEMNIBHo 361N,

aflaflw®meo &deg0rilaVda B3)dlaf 1WIadlead TVa0IVEIES AflAIGlBe).

14 2)®@8 19 2160 aBO®BE0 S Ga 0BRGN DOMOHAY®)M:. 4 cGAPOA allmo.

(5x4=20)
ARG DV al1BlBHVI@B DG DHBES LIEla] CTVBHO0)DRBOS BRHAUIGTI Al
21}AIOS OIS OB BHNAN). aBlETRIUNI AUODEN) M.

eapod 0-10]10-20|20-30|30-40 | 40-50 | 50-60
»S|SHBLOS ag)gPo 5 10 15 12 8 3

(@) &0y goadlee! 25 @reMddglag)es oondl 9®ee 161 cm @RYEM. @R)YCD®
oTJee! 35 0alemdnSlda10s v000UEl QWO 158 cm Ho @YEM. @R Goavloel
@RYO D> DGl DHBNS VORIUIAB] DW6 BHI61MN)M:.

(b) e avoalydgs MW (AM), 2ydldlle aowle (GM) afarial NG00
10, 9 agyamilaicoem. avamele aowyo (HM) @nejalsles)s. 2+2)
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16.

17.

18.

19.

20.

Calculate the median of the following distribution :

Class 10-20120-30]|30-40|40-50|50-60 [ 60-70(70-80

Frequency 24 42 56 66 108 80 15

The scores obtained when a die is thrown are given in the following table :

Score 1 213 4 516

Frequency | 12 |9 | 8 [ 13 [ 9| 9

Calculate the standard deviation of scores.

The probability that a man speaks truth is % He draws a lot from a box containing 5

lots numbered 1 to 5 on them. He claims that he got the lot numbered 2 on it. Find the
probability that he actually got the lot numbered 2.

(Hint : Use Bayes theorem)

() Explain simple random sampling. What are the methods of collecting simple

random samples ?

(b) Explain the procedure for collecting a systematic sample. 2+2)

Answer any 2 Questions from 20 to 22. Each carries 6 scores. 2x6=12)
(a) Choose the correct answer

If each value of a data is multiplied by 10, the mean is :

(i) not affected

(i) 10 times the original mean

(iii) one-tenth of the original mean

(iv) increased by 10.
(b) Inastudy on patients, the following data were obtained. Find the mean of the data :

Age (in years) | 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89

No. of Patients | 1 0 1 10 17 38 9 3 [(@+9)

FY-32 8



2+2)

2 x6=12)

1+5)

16.  anaes @amldleeam allmesmoniang awyse (Median) &:0em)s; :
oW | 10-20|20-30|30-40|40-50 | 50-60|60—70| 70 —80
apalyoel | 24 42 56 66 108 80 15
17, 80) alls a)TNaomea]oud ei€la] GOPIN)HUB 21)0IOS alF]BH@IT3 0@:0S)OBIEleNIM) :
eapod 1 |2]3|4 (5|6
@anyeal | 12 [ 9| 8| 13 9|9
COPIONBHBIOS AOMNBADIWOMo (SD) 3,06
18. 8008 @U@ AIOWINTIMBS ALoRIA® — @M. 1 MO 5 O
MoRUHOBTIQ S5 MO)ENBHEI@ TAM)e @RWIUB B0} MOPSNSIENAN). GRWIUVDHS
21El2® 2 af)daMITIQ MO)EHIHEMAT BOWOUB @O B:IU61Q |SIAN). WLNIBNGIE3
@RWIBES EIEl] MOIEH 2 BRYHIMBB MVoBINIL® 3061
(V321 : GENIVTY MIRLIMDIE DalCWIUE)B)
19. (a) erey @A0adl® @IGIo)leme (SRS) allaidlend. 80 ere) (@aoadld
QVOMNUB af)S}EMM B MBS BOBPEBUB aBO®EY0 ?
(b) 0] @aoMVY® (systematic) qVOMNWB GIEOTMSIENAN  MSalSlBHUB
aflo1clee)s.
20 ;)®@3 22 QAIPOWIBH aBOOBIEN0 2 GalOBIBWRGH DOMOOAYO)D. 6 cAPod
ailow.
20. (a) VAWM GHOEETINS TN ID) M.
830} Wwoqfleel af)elo afleideag®io 10 6306 1)eMa oG8 AIWYo :
(1) eruowlesariey
(i) ©Idmo nowiENOg 10 aseBod)o
(ii)) VLOIBMO HOWIBTNOW A IBBIHEIANIM0
(iv) 10 &)s)p
(b) croUflagad MSOBI® 80) AlOMEBIE3 Mo 21)AIOS OBIS)OTIBIBNAN Woq
e1Ela)). DOWYo BN
ey’ 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89
(uBatto)
cUl&B)0S 1 0 1 10 | 17 | 38 9 3
e
FY-32 9
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21. The quarterly profits (in lakhs of ) of two companies are given below. Compare their
Coefficient of Variations (CV).

Quarter Company (A) | Company (B)
April — June 10 16
July — September 14 21
October — December 11 23
January — March 9 19

22. (a) Choose the correct answer.
Which of the following is not an axiom of probability ?
(1) Foranyevent A, P(A)> 0.
@i1) P(S)=1, if S is the sample space.
(iii) For two events A, A, which have no common elements, P(A; or A,) =
P(A)) +P(A,).

(iv) For any two events A; and A,, P(A; and A,) =P(A;) x P(A,).

(b) For a group of 8 children consisting of 5 boys and 3 girls, 3 children are selected
at random. What is the probability that the selected group contains :
(1) nogirl
(i1) atleast one girl
(1i1) all are girls

(iv) exactly 2 girls (1+53)

FY-32 10



21.  @ang HSMIMBB)OS HO@A0AV L108eBUd (RldHo 0)lWl®d) 21)a16s @Gl

BRAIWOS AUTIIM 1)eMIEseRUd (CV) ®omA Lo a1 d:.

6 (A0 Sl (A) | &aual (B)
afall@d — ejend 10 16
21061 — OTVaIQosnIA 14 21
B2HESNIAB — AWlaVoeNIA 11 23
2010l — @082 9 19

22. (a) AWEMOO GO ETNS BN YD)D>.

(b)

FY-32

21)0160S  @AVIBlENNMAIDI@  MVoEIQIIMWOS VDo

m%ome@@“?

(1)  oRO®I0) gnaiad A @as)e P(A) > 0 @r@idles

(i1) S, avomilB caaieIIneMBI@3 P(S) = 1 Gry@ldlen)
(iil) IO EROWEBUE BAN)e MHANWILJOBIT OENE DAIMIBEM A, A,

af)laie@sslad P(A, @regy@l@d A,) = P(A)) + P(A,) ap@dlea)o.
(iv) A}, Ay ag® 0ae gnaIMas0oene P(A; 90 A, 0) = P(A;) x P(A,)

@R W1@loN0.

5 GREMB®SGIaa 3 OaleMdmSlagle 2UBaalesss 8 »Glaglad alanp 3

GalO®  TIOOMIMSIENMN).  GHOHTIMS)O  BMFHUB  21JAIOS  alOW)AM

(100D} MTIMIBS MVoEIA @BHUB 6N

(1) 80)0al1eMd)5le 0eJodHIEle3

(i) ®0)6almMaGlowelene DMROWVIEEH3

(i) agEJo BG1AB)o OIS HBOWEH5H3

(iv) D40 2 6)aleNBdn)Sld:8)Meodlesnand
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